g(X, 02)/9()(! Qz)ref

Uy (X, Qz)/uv(x, Q2)ref

.
(“
.t
Y
.
.
<.
.

//
IIIIILI* ] IIIIIII| ] IIIIIII| Ll

10~ 1073

.10 S

1072

10~

X

1.05

1.00

0.95

0.90

02

—m?2
_mt

L

104 1073

102

10~

X

dy (X, Q2)/dy(X, Q?)ref

>(x, Q3)/Z(X, Q?)ref

CMS

0.0

1074 1073 1072 107" X
CMS
B | IIIIIII| | IIIIIII| | IIIIIII| | I)
5 HERA + CMS jets 2 _ A2
1.21= -~ HEerAPDF20nMI0 Q° = m
[~ == CTi8nnlo
B NNPDF40nnlo
[ == MSHT20nnlo _
1.0 | e - -
0.8 \
| \ h
| IIIIIII| | IIIIIII| | IIIIIII|\ | | 1]
1074 1073 1072 107" X



